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Pipeline with yield/take
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rl = Ractor.new do

X = Ractor.recv
Ractor.yield (f (x))
end
r?2 = Ractor.new rl do |rl|
y = rl.take
Ractor.yield (g (y))
end
rl.send(:x)
something ()
r2.take #=> g(f(:x)) # something() & g(f(:x)) ZWFIETE
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Fiber

f = Fiber.new do
Fiber.yield 1
Fiber.yield 2
3

end

f.resume #=> 1

f.resume #=> 2

f.resume #=> 3

Ractor
r = Rator.new do

Ractor.yield 1
Ractor.yield 2
3
end
r.take #=> 1
r.take #=> 2
r.take #=> 3
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CR = Ractor.current

ing 7 A7 7 L

last r = r = Ractor.new do
p Ractor.recv
CR << :fin

end

RN.times{
r = Ractor.new r do |next_r|

next r << Ractor.recv

end

}

p :setup_ok
r<<l

p Ractor.recv
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def fib n
1f n < 2

1
else

fib(n-2)

end
end

RN = 10

+ fib(n-1)

RSy F A RNME D Ractor T

rs = (1..RN).map do |1|
Ractor.new 1 do |1|
(1, fib (1) ]
end

end

until rs.empty?
r, v = Ractor.select(*rs)
rs.delete r
P answer: v

end
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require 'prime’ workers = (1..RN).map do

Ractor.new pipe do |pipe|

N = 1000 while n = pipe.take
RN = 10 Ractor.yield [n, n.prime?]
end
pipe = Ractor.new do end
loop do end
Ractor.yield Ractor.recv (1..N).each{]|1] pipe << I }
end pp (1..N).map{
end r, (n, b) = Ractor.select (*workers)
[n, D]

}.sort_by{| (n, b)| n}
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send/recv yield/take

r3 = Ractor.new Ractor.current do |cr| rl = Ractor.new do
cr.send Ractor.recv + 'r3' 'rl'

end end

r2 = Ractor.new r3 do |r3| r2 = Ractor.new rl do |rl]
r3.send Ractor.recv + 'r2' rl.take + 'r2'

end end

rl = Ractor.new r2 do |r2| r3 = Ractor.new r2 do |r2|
r2.send Ractor.recv + 'rl' r2.take + 'r3'

end end

rl << 'r0" p r3.take #=> 'rlr2r3'

p Ractor.recv #=> "rOrlr2r3"
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Ring with supervisor and re-start

def make ractor r, 1 msg = 'e0' # error causing message
Ractor.new r, 1 do |r, 1| begin
loop do r.send msg
msg = Ractor.recv p Ractor.select (*rs, Ractor.current)
raise if /e/ =~ msg rescue Ractor::RemoteError
r.send msg + "r#{i}" r = rs[-1] = make ractor(rs[-2], rs.size-1)
end msg = 'x0'
end retry
end end
r = Ractor.current #=> [:recv, "x0r9r9r8r7rorS5rdr3r2rl"]
rs = (1..10) .map{|1|

r = make ractor(r, 1)
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¥ 1AEERK. &R X+ (#z72L Ruby E-00)

user system total real
process 0.528566 3.191144 30.444054 ( 30.1132306)
ractor 0.709152 0.842714 1.551866 ( 1.061107)
thread 0.542611 0.918953 1.461564 ( 0.966229)
fiber 0.143048 0.027120 0.1701e8 ( 0.170188)
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